
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

حل المعادلات التكعيبية

x − 6x − 16x = 03 2 x − x − 42x = 03 2

3x + 14x − 72x + 64 = 03 2 x + 9x + 15x − 25 = 03 2

x − 4x − 77x + 360 = 03 2 9x − 170x + 873x − 648 = 03 2

8x − 9x − 392x + 441 = 03 2 9x − 116x + 339x − 216 = 03 2

x + 6x + 5x = 03 2 x − 9x + 18x = 03 2
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　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

حل المعادلات التكعيبية

x − 6x − 16x = 03 2

x = 8, −2, 0

x − x − 42x = 03 2

x = 7, −6, 0

3x + 14x − 72x + 64 = 03 2

x = , −8, 2
3
4

x + 9x + 15x − 25 = 03 2

x = −5, 1, −5

x − 4x − 77x + 360 = 03 2

x = 8, 5, −9

9x − 170x + 873x − 648 = 03 2

x = , 9, 9
9
8

8x − 9x − 392x + 441 = 03 2

x = , −7, 7
8
9

9x − 116x + 339x − 216 = 03 2

x = , 9, 3
9
8

x + 6x + 5x = 03 2

x = −1, −5, 0

x − 9x + 18x = 03 2

x = 6, 3, 0
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